Varianta

Kontrola

bez N

bez P

bez Fe

Opakovani

la
1b
2a
2b
3a
3b

la
1b
2a
2b
3a
3b

la
1b
2a
2b
3a
3b

la
1b
2a
2b
3a
3b

Navazka

g

0.53
0.53
0.52
0.52
0.496
0.496

0.563
0.563
0.541
0.541
0.505
0.505

0.502
0.502
0.521
0.521
0.57
0.57

0.511
0.511
0.518
0.518
0.505
0.505

A662

1.199
1.197

1.461
1.474
2.232
2.231

1.464
1.453
1.094
1.097
1.577
1.585

1.774
1.774

1.78
1.796
1.577
1.623

1.142
1.166
0.36
0.355
0.204
0.18

A644

0.445
0.449
0.543
0.551
0.882
0.881

0.51
0.507
0.394
0.392
0.549
0.551

0.711

0.71
0.684
0.695
0.786
0.822

0.48
0.499
0.117
0.116

0.12
0.111

dle vzorce

chla
mg/|

chlb
mg/|

pramér
smodch

prameér
smodch

pramér
smodch

pramér
smodch



prepocet

chl a
mg/g

chlb
mg/g

chla: chlb

dle vzorce:

Ch|0r0fy| a = 91784XA662 - 0,990XA644
chlorotyl b = 21,426XAg44 - 4,650%Age,
nasledny prepocet:

(Vypocet dle vzorce-mg/I * 0,025l1)/navazka-g
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